1 Решите уравнение 
2. Решите уравнение [image: image1.png]X —14x+30 =





3. Решите уравнение [image: image2.png]27+ 16x —41 = —3x*—3x—55



.

4. Решите уравнение [image: image3.png]T — 8y —48 — 5 —22x—28




5. Решите уравнение [image: image4.png]27 — 13x+33 = 61 —3T7x+60



.

6. Решите уравнение [image: image5.png]10x° — 17x +34 = Tx* —26x+28



.

7. Решите уравнение [image: image6.png]A" — 11x 46 =6 —30x+51



.
8. Решите уравнение [image: image7.png]Oy +x+34 =5 +Tx+62



.

9. Решите уравнение [image: image8.png]T +15x+1 = 37 +x+13




.

10. Решите уравнение [image: image9.png]S5 —8x—1 =10 —-29x—21



.
11. Решите уравнение [image: image10.png]S5x° —18x—10=



.

12. Решите уравнение [image: image11.png]2144 = —4y7



.

13. Решите уравнение [image: image12.png]27 +22x —8 =Tx°



.

14. Решите уравнение [image: image13.png]106 —12x+ 1 = —10x°



.

15. Решите уравнение [image: image14.png]106 —12x+ 1 = —10x°




